
MTH 437/537 HW #6 Spring 2024

1. Consider the Reissner-Nordström geometry, with line element
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r2
. Determine the components Rij of the Ricci curvature.

You may use any formalism you wish, and any coordinate system you wish. Tedious compu-
tation by hand is discouraged, as is trying to fully typeset your results. Other options include
using computer algebra and/or using or adapting a computation published elsewhere. Such
strategies must of course be documented. However, make sure you understand—and clearly
describe—the conventions being used! One reasonable starting point would be the curvature
2-forms, and the relations
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where repeated indices are summed over.


